AE 2B A (] 3/4 5 7] )

R A R (Sl @ H9)

9] Al Apeluj el B P 123749 | 20189 71 | 20184 HF
A A (B) JaH(A) | clAH(A+B)

3HA 2,466,245 14,614,904 17,081,149

2,466,245 14,614,904 17,081,149

Et=g -2 1,927,452 13,134,586 15,062,038

29 268 911,678 911,946

WA Y EX] QA7 2 = 268 887,629 887,897

2FYERA Y 268 887,629 887,897

1. ZFAFARIAH R 268 885,629 885,897

7}, A A}l An) XY 268 885,629 885,897

D 7185 110-04 |1,645,2259 %249 x129= A11,442 485,267 473,825

2) A7 2R 110-04 |363,958¢ x24 x12¢¥= A420 105,240 104,820

3) 7Y 110-04 |108,24090x18% x129= A1,220 24,600 23,380

4) F211] 110-04 | (80,0009 %247 % 2:9)+(130,0009 X 248 x108) = A 2,400 37,440 35,040

5) Ax}=gt 110-04 |1,012,6209 x 247 = A7,536 31,839 24,303

6) A7 110-04 |300,000¢) X247 x 23] = 2,400 12,000 14,400

7) HAF 320—12 3,612,45891x24%= 24,891 61,808 86,699

8) ZHlaAF 320—12 96,6389 %247 x12¢¥= £3,928 31,760 27,832

9) AR 320—12 72,8029 X249 x12¢¥= A630 21,597 20,967

10) =o1#7] e okw 3] 320-12 |5,3269 %24 x12¢¥= 119 1,415 1,534

11) 28x3g 320—12 33,5039 x24W x12¢¥= A938 10,587 9,649

12) At g 320—-12 2437191247 x12¢¥= 1,372 5,647 7,019

&85 x9 111,433 509,632 621,065

EA TSP} 102,331 2,602 104,933

ST ABLIAY 102,331 0 102,331

1. &7 =X FIA Y 102,331 0 102,331

7h 2 A8 A 102,331 102,331

1) A AN 420-02 96,000,000¢1 X5.655%= 5,429 5,429

2) A]/dn] 96,000 96,000

7h g Edg 420-03 |48,000,0009] x 24 = 96,000 96,000

3) Al Fn) 420-05 96,000,000€ X0.939%= 902 902

B uSTAA Y 6,102 43,709 49,811

#3143 6,102 35,979 42,081

1. FFATALY 6,102 35,979 42,081

PG - BF-FHTEAY - AT SEHAA D - Beu gAY eI e 1/8




s B =t At A B R (The] : 29
wofmz 38 | 29 | AF el o= Bl 1A573 | 20189 714 | 20184 A&
Abel A} A (B) o 2k (A) o AH(A+B)
7}, IpEFA FAROl A1) 6,102 35,799 41,901
D 7185 110-04 |1,912,0009 x 129 = 3,720 19,224 22,944
2) RALY 110-04 |187,0809 x12¢¥= 2,245 2,245
3) A7 2RI 110-04 |236,0009 x2¥= ~1,388 1,860 472
4) 71554 110-04 [40,0009 x12¥= 480 480
5) WEH ZH) 110-04 [69,830¢9 x12¥= 118 720 838
6) =24 110-04 |143,2509 x12¥= 159 1,560 1,719
7) A7 o+ 110-04 |300,000¢ x 23] = 100 500 600
8) A=t 110-04 | 782,0009 x 14 = A300 1,082 782
9) AFTEZSFG 110-04 |73,720€9 x25%= A557 2,400 1,843
10) 233 E2)n) 240-02 |367,00091 <24 = 334 400 734
11) =W+ 320-12 |25,311,1109 X 4.5%= A131 1,270 1,139
12) 4713 320-12 |45,865,3809 x3.12%= 550 881 1,431
13) w=el#7] 2ok & 320—12 [1,557,250€9 X6.55%= 44 58 102
14) 1813 320-12 |26,133,3309 X 1.5%= A32 424 392
15) AR & 320-12 |28,875,0009 X0.8%= 5 226 231
16) BA &+ 320-12 |59,388,000¢ x1/12= 755 4,194 4,949
A5 S A sk 3,000 135,244 138,244
A S EA3K Y 3,000 33,444 36,444
L ASEZEHAY LY 3,000 33,304 36,304
A Rt By = el i A R 3,000 23,304 26,304
1) £98= 210-01 |50,000¢) x 8% x 23] = 480 320 800
2) A 310-01 30,0009 X 2585% X 10A13}= 900 6,600 7,500
3) An 310-01 |8,000¢1 X904 = 720 720
4) 7+ 310-01 |3,00091x 1,121 x 23] = 900 5,826 6,726
TSEANRY 47,420 2,006,279 2,053,699
FA2 ¢ 16,820 1,537,887 1,554,707
8t7)1E=F A8 A 4 16,820 1,537,887 1,554,707
1. Zol&R a3 A40,220 1,426,525 1,386,305
7F A9 620—-03 |84,846,000¢1= A5,564 90,410 84,846
U 253w 620-03 |516,772,0009= A3,219 519,991 516,772
o}, = mw A1,555 362,694 361,139
W - Foll 2T TS — BFEAAY - FAAY - AV FFAuAd 2/8




(9] - )

53

2018 7174

2018 #H=F

Abd Wi < s
B T (B) o A (A) JAH(A+B)
1) 29 620-03 285,272,000 = 748 284,524 285,272
2) A 620-10 |75,867,0009 = 72,303 78,170 75,867
g 1Esy A29,882 453,430 423,548
1) =29 620-03 200,963,000 = ~23,569 224,532 200,963
2) AFl 620-10 222,585,000 = 6,313 228,898 222,585
LS FEZEAZR AN AP 60,000 0 60,000
7F 6-x1¥ 620-03 |3,739,0009 = 3,739 3,739
U x5y 620-03 |21,720,000¢9 = 21,720 21,720
o}, Z8w 15,432 15,432
1) =29 620-03 |12,234,0009 = 12,234 12,234
2) A 620-10 |3,198,0009= 3,198 3,198
2t 15En 19,109 19,109
1) 29 620-03 |9,458,0009 = 9,458 9,458
2) A 620-10 19,651,000 = 9,651 9,651
3. ¥ AEFAERY 22,960 111,362 108,402
7F x4 620-03 |6,524,0009 = A441 6,965 6,524
L} 25k 620-03 |39,946,0009= AB5 40,001 39,946
t}, =s8kw A137 29,084 28,947
1) =29 620-03 |23,222,0009 = 36 23,186 23,222
2) AFd 620-10 |5,725,0009 = A173 5,898 5,725
g} 158w ~2,327 35,312 32,985
1) 29 620-03 |15,650,0009 = A1,836 17,486 15,650
2) AH 620-10 |17,335,0009 = ~491 17,826 17,335
TESAANA 20,000 20,000 40,000
n5EY3A A 20,000 20,000 40,000
. FAERSAY 20,000 20,000 40,000
7t 8- sAHE A G A F st 51 Y 20,000 20,000
1) A= - E5 99 210-01 |200,0009 x103] = 2,000 2,000
2) guddAdeEAA 210—13 720,0004 x 257) = 18,000 18,000
I A Y 10,600 147,392 157,992
A A Y 10,600 147,392 157,992
\1 2ES A A HAFAAA Y 13,350 83,939 97,289
F - IS HEAAY - v HPAAAY - w gAY 3/8




s B =t At A B R (The] : 29
Bopnm AF | @ AR Apeiu el w_ g R 1X=29 | 20184 /14 | 20184 %
T e e | A o e e (B) AAH(A) | AAH(A+B)

7F 258w 620-03 |97,289,00091= 13,350 83,939 97,289

2. 2w A HA TR Y A2,750 63,453 60,703

7} ¥y =sw 620-03 148,929,000 = A1,642 50,571 48,929

A S 620—-10 |11,774,0009= A1,108 12,882 11,774

BA/FA/ASES 69,303 74,419 143,722

=277 69,303 47,555 116,858

IaTASER o  ES| 69,303 36,799 106,102

1. SR F /) FAA 5> 69,303 36,799 106,102

7F =54 7T 0L A 69,303 36,799 106,102

1) 2538w 620—-03 |70,425,0009 = 48,980 21,445 70,425

2) Z38ku 20,323 20,323

7hH 3 620-03 [14,599,0009= 14,599 14,599

W) A 620-10 |5,724,00091= 5,724 5,724

i B A RuRC) 219,959 5,793,369 6,013,328

A= RE1 P O] 162,162 4,355,850 4,518,012

TR Bt DA 162,162 4,355,850 4,518,012

1. a7 2%y 162,162 4,355,850 4,518,012

7F S-x9 620-02 |631,848,0009= A4,159 636,007 631,848

U =53 620—02 |2,828,540,0009 = 127,487 2,701,053 2,828,540

T} =3k 620-02 |1,057,624,000¢= 38,834 1,018,790 1,057,624

AFsHA A = Y 57,797 1,437,519 1,495,316

AAN AR ATA Y 52,862 1,176,797 1,229,659

1. Q1 A¥ AR AT R Z 52,862 1,176,797 1,229,659

7F. el An A ¢ 620-08 |1,229,659,000¢= 52,862 1,176,797 1,229,659

Lgn AR ATFA Y 4,935 260,722 265,657

1. SFu|AMA AT ZE 4,935 260,722 265,657

7}, st 7| B2 H] 620-09 |265,657,000¢= 4,935 260,722 265,657

St w0 A A A2 1,479,069 3,839,209 5,318,278

NS HFNAAA 1,479,069 3,819,595 5,298,664

WA B TS A AL 1,479,069 3,819,595 5,298,664

1. IAFSA 272,671 463,673 736,344

7}, 9w 2= 75,576 121,703 197,279
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AN — BEBAAAAAL - A A& A
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(] A 9)

539

2018 7174

2018 #H=F

[eZ] X _ =

AT TS S ) SHA) | SRHALE)
1) Aldn] 75,576 85,100 160,676
7h A% 420-03 |12,596,0009 x 621 = 75,576 75,576
RIS 197,095 56,959 254,054
1) AlAH] 197,095 56,363 253,458
7h QA% 420-03 [8,690,0009 x 12.5%1 = 108,625 108,625
W) 2% 420-03 |8,690,0009 x 62= 52,140 52,140
o) #Yx 420-03 [3,790,0009 X 54 = 18,950 18,950
2h A= 420-03 |8,690,000¢ x 22 = 17,380 17,380
2. AldbANA 458,500 749,368 1,207,868
7F W R 27,000 376,945 403,945
1) WA sH 7 A=89 27,000 27,000
7 &AA L 420-02 |27,000,0009 x 14 = 27,000 27,000
A (A ) oA 431,500 209,092 640,592
1) A Am] 420-02 [412,920,0009 X0.6797%= 2,807 2,807
2) A’y 412,920 206,285 619,205
hH BE5= 420-03 |11,470,0009 x 254 = 286,750 286,750
W) =3Ad 420-03 |11,470,0009 x 112 = 126,170 126,170
3) Al F-on] 420-05 412,920,000 X 3.8197%= 15,773 15,773
3. RSB N 6,360 1,341,483 1,347,843
7}z 3 H A 6,360 6,360
1) THxS 620-04 13,180,0009 x 12 = 3,180 3,180
2) SAAL 620-04 |3,180,0009 x14]= 3,180 3,180
4. A7\ AN 136,800 331,344 468,144
7} 2 A4 (LED) 136,800 258,660 395,460
1) AlAH] 136,800 256,000 392,800
7h Bz 420-03 |3,800,0009 x 252 = 95,000 95,000
) =34 420-03 |3,800,00091 x 114 = 41,800 41,800
5. AN 604,738 389,294 994,032
7}, s N 604,738 389,294 994,032
1) A Am] 420-02 |570,592,0009 X 3.6968%= 21,094 21,094
2) AlAH] 579,530 373,200 952,730
b &= % 420-03 [82,790,0009 x 72 = 579,530 579,530

m

A = &R N AL - A WL EE AN
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(9] - )

A R 17 | 20189 71 | 20184 ¥
(B) o AH(A) o4k (A+B)
420—-05 570,592,000¢ X0.721%= 4,114 4,114
1,207 143,434 144,641
1,207 143,434 144,641
1,207 82,204 83,411
1,207 82,204 83,411
1,207 8,054 9,261
1,207 1,207
110—04 390,000 x 17 x29= 780 780
110—04 |130,0009 x 1% x2¢9= 260 260
320-12 40,0009 x1 x29= 80 80
320-12 20,0009 x 19 x 29 = 40 40
320-12 |2,5009 x1g x29= 5 5
320-12 |15,0009 x 19 x29= 30 30
320-12 |6,0009 x1 x24= 12 12
LEYyt 537,586 1,336,884 1,874,470
s 15,350 876,460 891,810
9,950 31,712 41,662
9,950 31,712 41,662
9,950 0 9,950
620-03 [4,950,0009= 4,950 4,950
620-03 |5,000,0009= 5,000 5,000
A3l x) A & 5,400 657,777 663,177
A ul) X] A & 5,400 657,777 663,177
1. 282X 5,400 646,293 651,693
7} frolR s gA 620—03 [100,0009 X 5478= 5,400 5,400
B9z 522,236 460,424 982,660
R 30,394 350,711 381,105
30,394 350,711 381,105
30,394 162,167 192,561
4,784 4,784
110-04 (978,750 x 27 x 249 = 3,915 3,915
110—04 |130,0009 x 27 x 29 = 520 520
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il s BRG ed Sl A S R (The] : 29
A AFA AHA (B) oA AF(A) A4k (A+B)
3) =ulol =+ 320-12 49,0009 x 29 x14= 98 98
4) AR E 320-12 |34,2509 x 29 x 29 = 137 137
5) &=A7]|QekR 3 320—-12 [2,0009x2% x19= 4 4
6) 1EHES 320-12 16,5009 x 29 x2¢= 66 66
7) AR RS 320-12 11,0009 X294 x 29 = 44 44
. AFFE A A 25,610 25,610
1) 3ol &&=}t 430—01 [250,0009 X 317h= 7,750 7,750
2) 3989k 430-01 |235,0009 x 767= 17,860 17,860
A R AR ] 491,842 109,713 601,555
DA GHA L HEE 491,842 109,713 601,555
1. ZSALYHA A 491,842 109,713 601,555
7}, g Ak 3] o) A S A A ) A 25,000 25,000
1) W] oA 420-03 [25,000,0009 x 12 = 25,000 25,000
v dARSY - - SAH 2SN 142,272 142,272
1) 2 A 420-02 [112,472,0004 X6.699%= 7,535 7,535
2) Al/dH] 112,472 112,472
7hH grd= 420-03 150,552,000 x 14 = 50,552 50,552
) Al 420-03 |7,170,0009) x 54 = 35,850 35,850
oh 24k 420-03 |8,690,000¢ x 34 = 26,070 26,070
3) Al H-tH] 420-05 |112,472,000¢ X0.89%= 1,001 1,001
4) WRA A A7) 79 21,264 21,264
7 ek 430-01 |1,610,0009 x4%F= 6,440 6,440
) db o 271 o] A 430-01 |903,0009 x 2F x4 = 7,224 7,224
) 55 430-01 |2,533,3309 X 3%F= 7,600 7,600
o S5 S A A S A 218,419 218,419
1) 2 A 420-02 |151,656,000¢ X6.209%= 9,417 9,417
2) Al 151,656 151,656
7h glrde 420-03 |50,552,000¢ x 34 = 151,656 151,656
3) Al H-t8] 420-05 |151,656,000¢ X0.829%= 1,258 1,258
4) WRAAH 779 56,088 56,088
70 AHFA 430-01 |760,5009 X 20% = 15,210 15,210
W) A7) - w52 430-01 |787,800¢1 X 10%= 7,878 7,878
W& - THAT - 7| FF Y - RSP AL - nHFA AP AL B 7/8




#1247 (9] - )

Al - Apeluj el == s 1xF7 9 | 20184 714 | 20189 HF
Ab B T e (B) AH(A) | oAH(A+B)

o) A= - A3 430-01 |1,100,0009 X 30%= 33,000 33,000

2}, WeeAlE w487 /) A 106,151 106,151

1) AAMH 420-02 |75,828,0009 X 6.998%= 5,307 5,307

2) A An 75,828 75,828

7h glmae 420-03 |50,552,0009 x 1.5 = 75,828 75,828

3) A]AE ) 420-05 |75,828,0009 X 1.008%= 765 765

4) YEA AR 779 24,251 24,251

7h ARFA 430-01 |1,390,800¢ X 10%= 13,908 13,908

) Agkarakaul 2] 7 4] 430-01 |755,0009 x 11%= 8,305 8,305

th el 430-01 (509,500 x 4%= 2,038 2,038

A 2 - wSFH7) AL - n5A LG AL P 8/8




